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compulsorily.
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All the questions are compuisory.
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Write the answer to €ac

h question in the given answer-book only.
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SELTION . o

+

(aegfs ¥ )

(Objective and Very Shory Answer Type Questions)

1 ﬁﬁﬁ@ﬁxuﬁ%mw@ﬁmmmmﬁwﬁ%ﬁm!

Answer the following questions atid Write them in the answer book by selecting the
COTeCt option.
i) l%a:mmmzﬁuﬁmﬁwg: (1
U a) 2
w4 7 6

The sum of the powers of the prime factors of 196 is

4) 1 B) 2
C) 4 D) 6
i) IR U R x? — kx + 4= ¥ qE WAA R, A kT W P - (1]
H) =l a)  +2
q) 3 q) *4

If roots of the quadratic equation x* —kx+ 4 =0 are equal, then the value of

k will be -
A) £l B) 2
C) +3 D) +4

9-Mathematics 1205 [ Turn Over




4
i) fag (3,4) Wy-FFAT AW - [

2

H) I )
|q) 3 a) 4
The distance of the point (3, 4) from, the y - axis will be -
A) 1 B) 2
C) 3 D) 4
iv) 3x+2y=11 MEGEFATNIRY [
) (L4 T (2,3)
a (3.5 ) (1,3)
The pair satisfying 3x+2y =11 is.
Ay (1,4 B) (2,3)
€ 3.9 D) (1,3)
v) fium wdemon 3¢/3x2 +10x ++/3 = 0 & Refifwem 3m - i
) 8 q) 30
|) 46 q) o4

Discriminant of quadratic equation 3,/3x? + 10x +/3 =0 Will be:

A) 8 B) 30

C) 46 D) 64
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vi) uﬁls,a,b,—smwﬁa“b R B — (1]
) 7 T 11

/M 15 )19

If 18, a, b, -3 are in A.P., then the value of a + b will be :

A) 7 B) 11
o) 15 D) 19

vii) 3sec45° cos45° wrum B - (1]
H O w) |
|) 2 ?) 3

Value of 3sec45° cos45° willbe :

A) 0 | B 1
C) 2 D) 3
09-Mathematics 1205 [ Turn Ove
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viii) o 1 g St T “'Wﬂaﬁ%am@’mg, [1]
3” W ?) =
q) e ) qfifiy

ircle, whose lengy. .
A chord of acn 8th j twice the radius of the circle, is called :

A) Sector B)  Diameter
C) Area D) Circum ference
) g B 3.5 WG IR vy g m
&) 118d [ 22%h
W) 334 7) 440
Radius of a circle is 3.5 em. Find jts circumference.
A) 1llcm . B) 22¢m
C) 33cm D) 44cm
X) mwm@qﬁwm%ﬁaﬁ?ﬁﬂ‘g,mﬁ{mﬂm@m- 1]
¥) 6ud | ) Ta&R
q) gu 7)ot
E;fhe total surface area of a cube j 486 cm’. Measure of side of the cube will
. |
A) 6cm B) 7em
C) 8cm D) 9cm
3~09-Mathematics
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xi) w3, 5, 7,4,2,1,4=33m4a“"3ﬁa%—- (1]

[ 1 Ty 3
|) 4 3 7
The mode of the distributi®n 3,57 4 5 | 4 3 and 4 is -
A) 1 B) 3 ]
C) 4 D) 7 |
Xii) T TR N T W 4 Y aW I AN ) iy @ SR (1l
1 L
o 3 D3
3
|) P 7 1

In a throw of a die, determine the probability of getting a number more than 4 :

B)E

N | e

A)
C) ;i - D) 1

2) Ereifrfan wat i fren Tl 1 g w0 7o swgie # ke

Fill in the blanks in the following questions and write them in the answerbook.

95 went 152 = wgwm gRmada (HCF) K] (1

1)
Highest Common Factor (HCF) of 95 and 152 1s :
i) gawfRmefga wyl Y G A wwd g (1]
tangent can be drawn from a point on the circle.
{ Turn Ow
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iii) cos’45° WW”‘_A—__“\EI 1

The value of cos’ 4:: is _\/
iv) qaam:ﬂﬁﬁwﬁw mﬁpﬁﬁﬁ% .

- ol

int of the ¢j S
The common point O Ircle Ang jts tangent line is calleq

e 9 |

HAT-W ]

v aR5,7,9,x® Crmar e 1)
If Arithmetic mean of a d'StnbUtiQn 5, 7,9, xis 9, thep value of x will
be

vi) Mﬁ“ﬁ““‘“m“‘ﬁm‘"mﬁﬁmﬁm

two dice s
* Probability of getting a total of 7 will

i 1)
In a single throw of _—

be

3) f sFgeaEE T

Very short answer type questions.

) k% e mm wwdEm gm 3x -2y =0 e kx+5y =0 ¥ 30w 7 g

(1]

For which value of £, linear pair 3x — 2 Y=0and kx+5y = 0 will have Infinite
Solutions?

ii)  fgEm W ax? + by 4o = 0 %:qammmsﬂm?:ﬁqg%%m 1

Write the Sridharacharya formula to find roots of quadratic equation

ar2+bx+c=0-

iii)  fe T 9 (A-P) 70 90m 03 . e wedorm 4 @1, ) uieEn vg = A
What wil]

' be the Fifth term of a Arithmetic Progression (A.P.) whose First
term is “4” and common difference is “d »?

$—-09-Mathematics -
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A pe—— Rt LA "
Define similar figures.
Ttan 30°
5 ottt Hfwm
R l—tan” 30° A 18
Find the val . 2tan30°
d the value of [ tan?30°

Find the value of m at g = gpo,

vii) 10 Tﬁaﬁ%ﬁahﬂ@mmﬁqm JrEma Hw 30° Bt g A dAm &
FTUR Vg0 e wnfte (1]

From the top of 10 meter high tower, angle of depression at a point on earth is
30°. What will be the distance of point from the base of tower?

viii) U ISATER BF H TS a0 Hh o o ST .3 §, A T W
Fo 7 il (1]
If ratio of length of a vertical rod and length of its shadow is 1- .3, then find

the angle of elevation of Sun.

%) 3 e Froa St o g wEd e g O R 5 ol o e g P o 8 e Y
gt 3k 37t wa ) (1]
Draw a circle with centre O and radius 3 cm and draw two tangents to the
circle from a point P which is 5 cm away from its centre and write the

measurement of them.

[Turn Over
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friipe e g
x) 5 afy el U AB‘ﬁ"%TQanﬂzﬁ-a;aﬂqmﬁﬁmﬁmﬁa‘mﬁwm
g fafae!

[1]
egment AB of L
Draw a line seg len 8th 5 d divide it into t eratio2:3 Write
the measurement of both the pa Seman h

fAsawEesg 39 -]
xi) M@fﬁl EF' miﬁmﬁéﬁmaﬁmﬁmmm
oo ?

(1]
ircle is a

If the sector of a cir¢ q t

measure of the angle formed buaf;"ﬂn of that circle, then what will e

€ sector on centre?

xii) mﬁmﬁﬁaanészuﬁﬁqa;mﬁﬂ

T o PR wg Nmay
£ mfaar g Hifon! m[??
A card is drawn from a well Shuffled deck of 52 cards. Find the probability of
it being a ten.
U -y
SECTION - B
" 13
qﬁﬁumlzs 1 A YR forfa) 2]
13
Write down the decimal Xpansion of the rational number —— 125"
5) _x—6% '
T X"~ x—6 % Y Hifdry 2
Find the zeroes of the Polynomis) .2 £—6.
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6 %qm“'hm”z—mxﬁg:o%ﬁﬁ“’ﬁﬁmmm@l 121

Fi «001S of the u ; .
ind out the nature of roo Hadratic equation 4x° —12x-9=0.

7) TR (0, 0) st (5, —3) 3 e T Vg 3y g g bR T SR (2]

F T _ . . .
a;zd(;he ;(; ordinates of the mid POint of the Jine segment joining the points (0, 0)

| §) T TS R W e v o e TR R 40 e s v R el 2 e o
S HI 60° R wzaw 30° @ A 2 Hew ) s e DR 21

The shadow of a tower on a level ground is increased by 40 meter, when the
altitude of the Sun changes from 60° to 30°. Find the height of the tower.

9) 6Mw%maﬁwm'ﬁ%ﬁmmm@m%ﬁmm

Rt s R 2 g 8 i 8 AR 2

Construcf an equilateral triangle whose measurement of side is 6 cm and then

le whose sides are % fimes the corresponding sides of the

construct another triang
given equilateral triangle.

\ 21

10) 4%&@%@@mwawﬁ’mﬁ@ﬁuﬁ@@%mﬁ
: h other.
D air of tangents to a circle of radius 4 cm, whichare parallel to ac
raw a p
l Turn Qver
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12 watwm B 87 12
- ﬁamwﬁmwa,a%w%aﬁﬁﬁ I

imilar trig that they are congruent?
area of the two St Ngleg rove
Ifthe a f 3.[‘& e uﬂl-" p
q

. wﬁﬁw?ﬁgmwmmﬁmmméoﬁlwmamm
ara el | 2]

e d .
Radius of a circle 15 7 cm and the ang|, subtended at the centre by an arc is 60°.
. f this sector-
Find the area O

13) g o S Yo, o (et 15
6 2nft 1 e o 0 0 T ST e 2!

. stum of @ cong ; ]
The slant height of a fru 18 om and ¢ 84 cm and the perimeters (circumference)
of its circular ends are ®m. Find the curved surface area of the
frustum.

14) aﬁ,ﬁqﬁﬂmwmmﬁtﬂ%%ﬁaqmaﬁaﬁﬁamqmanmm%\

TRumR T = g S e i) (2]
Two cubes each of volume 64 cm?® are joined end to end. Find the surface area of
the resulting cuboid.

15) ﬁqmmﬁzqmmmﬁﬁql - 2]

x123456
f245422

Find the mean of the following freq uency distribution.
r e e
1|2

X 14 5|6

f 2[4 5 4.--; 2
. —L___ | -

S—-09-Mathematics

1205




h

1
16) ﬁ%@ﬁgmﬁ.smﬁmzﬁiﬁ
&1 gert wen st § fon Freetl T Sy

i) @ e

A : .
t kbOX contams 8 red marbles, 5 Wh“e Marh|
aken out of the box at random. V

()

red?

) TR

(it) - NOt green?

17) R uem
) o 40 S iRt a v @ P ) 6 @ e
in
€ sum of the first 40 Positive Integers divisible by 6.

18) 38 P T derwen s e Rrerdigid (2, 3), (<1, 0) R (2, —4) A

Find the area of triangle whose vertjces are (2, 3), (-1, 0) and (2, —4).

19) @ﬁ@%ﬁlﬁ%mﬁnﬁaﬁmgﬁwmmﬁﬁm

TS 0-10] 10-20] 2030 | 30-40 | 40-50]
ol d e 4 22 | 22| 20 6
The marks of students of a cl

Find their median.

Marks Obtained [0-10 [ 10-20 | 20-30 30-40 | 40-50
No. of Students | 4 28 | 42| 20 6 |

S{)9-Mathematics
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(2]

atis €s and 2 green marbles. One marble is
1€ probability that the marble taken out is -

3

3\

131

ass are given in following frequency distribution.
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lq o si=ht ¢ 21 g Fifor fy,
20)WOﬁWWT%TﬁQWMprT [31
|
£PTQ=220PQ

ferna)
. entre O from an ex
tangents TP and TQ are drawn 03 circle with ©
Two s . _

ot T. Prove that ZPTQ 2150[’()_

pﬂi’ '

Sy _
SLQI@?_,Q

Fi YR et o o ool Ry gy 4]
21)

xt+yp=14
x—y=4
Solve the following pair of linear equatiqﬂs graphically :
x+y=14
x—y=4
JUM/OR

@maamﬁmﬁsﬁanﬁmﬁugahmmmﬁmﬁmmawﬁmmﬁ
mﬂzma,mﬁﬁmm@mﬁqﬁaw%l

4]
[=cosA =CoseCA-cotA
I+cosA

Prove that -

] -
1(““—~COS'A =CosecA-cotg
I+cosA

Er/OR

S—09-Math ematjcs :
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%Eﬁlﬁqﬁi:
4}

. ] 2 SECA 2 -
(sin A tcosecA) +(cosA+ ) “T4tan® Ay cot? A
Prove that :

; 2
(sinA+ COS@CA)E + (cos A+ sec A] =T+ tan”> A+ cot? A

1025 | 2540 | 4035Ts5.70 70-85 | 85-100 |
el 20 44 | 26 3 \ ! J

Find the mode of the following fl‘equency distribution :
Class 10-25 25-40 | 40.55]55-70 | 70-85 | 85-100

——

Frequency | ¢ 20 s | 26 3 !

41

JUA/OR
: - A
ﬁwmmmwmmmﬁﬁmq: W

=i 0-20 | 20-40 | 40.60 | 60-80 |80-100 |
HARERA 6 10 13 7 4 l

Find the mean of the following ffeqliency distribution :
Class 0-20 | 20-40 | 40-60 | 60-80 |80-100 Jj

4
Frequency | 6 10 i3 7

y o
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